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The ﬂgures in. the marrfgin indicate
full marks for the questions. '

Answer any ﬁue «,uestions

Write a critical riote on the principle of |

utility’. What aré the objections to the
Principle of Utility and how does Bentham
Counter them Discuss. . - 8+8-16

'OR

* What are the different kinds of pleasures
and pains? State and explain the various

simple - pleasures and simple pains
catalogued by Bentham. Bri fly state the
method adopted by Bentham. to measure

lJICOS\.&I'eS and pains ‘_J f 4+6+6=16



How does Bentham analyze ‘Liberty’ ? Is not

the liberty to do evil liberty ? Is it possible - - -

to take away liberty from idiots and bad
men, because they abuse it ? Explain..

| 848=16

Define the term ‘Properfy Bring out the -
significance of Benthamy's distribution of

property by Succession with the suitable
examples , ‘ o 16

Discuss how Bentham explains the ‘indirect
means of preventing offences’. How are they
- diffused through society? - .. 16

.OR

What is meant by an oﬁ”ence ? What are the

different kinds of offences classified by
~ Bentham ? State and explain Grounds' of
justification provided by Benth.\m in thlb

regard. . - s N 16

. Enumeraté. and bri¢fly ‘explain’the "cdncept -

of public opinion. Mention' the characteristics

of law-making opinion iri England and traee

the relation between law and public opinion
in England '«SWuasinIndia |

16 .~
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OR

8. Write short notes on : (any two) _
' ' ’ 8+8=16

<({) ,4 Referendum
(i) Election |

< (i) Opinion polls
(iv) Plebiscite.

9. Bring out the differences between Statute
law and Judiciary law. Discuss the
2\ ‘advantages of Precedent over Statute law.

8+8=16
OR. |

~10. Enumerate and briefly explain about the
.+ composition, powers and functions of Law

.-~ Commission of India. Also highlight some of ‘.
" the recommendations given by the Law

- Commission of India for maximising Justice -

mSociﬁfy I o8+8=16"
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